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1. Solve the equation of g2 + 129 + 32 = 0!
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2. Solve the equation of 4&"+32-10) = 1

x =
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3. If we express the 2x* + 16x + 5 = 0toa(x + b)* + ¢,

4. Solve the simultaneous equations of x + y = 6 and

SD,E:i ‘ =

IE+E]{=2[]!—
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5. The sum of two numbers s 26. The product of the two numberis
153. What are the two numbers?
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6. Find the value of x that satisfy the equations 3x* + x2 — 4 = 0!

x:‘ L_.'l:":“:.:‘ ‘

7. Solve vx(vVx + 1) = 6!
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8. From the function of ¥y = x% + 14x — 15, we can conclude that

a. The x-intersect are |— and |—|

b. This graph will have an y intersection at (!._| ,| | )
¢. The graph has | . point.
d. The | pointis( | L

g. From the function of ¥y = 12 + x — x%, we can conclude that:

a. The x-intersectare ' | and '1. | i

b. This graph will have an y intersection at ( !_| il )
¢. The graph has | _point.
d. The‘ | pmintis(|-_. il ),

10. Solvex®+6x—7>0!

[

11. How many roots that these equations have?

a. x—-12x+36=0 ‘ ‘
h.z.rz—?x+ﬂ=u| ‘
12.Find the value of k for x2 + kx + 4 = 0 which has two equal

roots! K= |—| am:l|




13. Where does the line f(x) = x — 1 cross the parabola g(x) =

(x +2)2 -9

(_| ‘ , ‘ | | yand( | ‘ ‘ )

14. Find the value of k for which theline y = kx + 1 is a tangent to

the curve y = x* — 7x + 2!
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